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Attempt overall five queshions, All Queshions carmy equal marks.
Use of folgwing supporting matedal i permitted during exgmenation,
(Mantionad in form No, 2035)
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/]‘/ (a) Why space and time complexity must be considered while
writing a code 7

M Explain big oh and omega notations along with their
significance.
B+B
OR
1 ia) Explain the representation of linked List in a memory.

by Write C funclion to inser the element x after a given node
in a doubly linked last.

B+8

2 Symmase o three-dimensional arvay MAZE s declared using MAZE
(28, 41, 6:10). Suppose the progrioiming languige stores MAZE
in memory in row-major order and suppose Base (MAZE) © 20
(base address) and theee are W = 4 words per memory cell. Then
caleulate :

1) Total number of elements of MAZE.
(i) The address of element at location MAZE [ 5. -1. 8]
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Write a © code to perform matrix multiplication operation,
Explain the sparse matrices representation and its
sigmficance.

B+8

Converi infix expression X into postfix expression showing
stack status afler every step in tabular form -

X A+(BeC ~(DIET Fys(5)n §f
Explain the tower of Hanoi problem NSNS reCArSion.

10+
OR

3 What is Queus ? What are the differont operations perform on
it ? How the queune is implemented using linked List * Write
algorithm for common operation perfarem on e

~4  (8)
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A binary tree T has 9 nodes. The inorder and preorder
traversals of T yield the following sequences of nodes -

Differentiate betweon Binary Search tree and indened -hinary

106
OR

Write an algorithm for deleting a node from a binary search
Lo,

Explain the insertion of an element in an AVL tree by taking
suitahle example,

B+5
Explain Warshall's shortest path algorithm,

Define spanning tree, Find all spanning trees of the following
graph.
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G {(a) Suppose an array A contains 8 elements as follows -
T7. 33, 44, 11, BB, 72, 66. 55
Sart this array wsing selection sort.
Show all intermediate steps,
I Dilferentiate betwesn
G  Heap sort and Merge sort
)} BFSE and DFS.

B+E
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